EELERESR.
& @ 240 - 470 mm

w5 SRR R R

R/ & P

o HBBAZRALTAMEREMRN, AFEMNMERLAZD
- ERAEARE, EEMEASHRENE SR

o BATFS AP

AR R

o EESEFHE, SRBIRSS/HR
o TAE[EF12-10 bar (29-145 psi)

o RITENAF X MM AL B

(REHETFX)
fRERE 3T 8
3-MELFE BlEE £ CC-350
1 EHN
* 1 CC-240 AAEEMEHEE. r

RERARER
NREFFAER, BERREFER

SMW-AUTOBLOK #= CcC2402z CC3502 cca70z

A mm 240 360 470

B mm 306 446 550

C mm 250 372 n.a.

DH6 mm 195 235 310

E mm 315 400

F mm 223.8 290.5 374

G/G1  mm M12 /39 M12 /39 M12 /26

H mm 135.5 191.5 2395

H1 mm 134 190 238

J mm 6.5 6.5 8
RIFER T mK K mm 245 365 507

L mm - 21 20

M mm 49 92 n.a.
SO N inch G 1/4" G 1/4" G1/2"
RINRK 3 mm 45 /95 47 /97 50.5/152.5

a mm 40 44 60

o mm 74 33 37

p mm - 33 26

b f7 mm 17 21 25.5
& c inch 1/16" x 90° 1/16" x 90° 3/32" x 90°
#2£T 1SO 4762 12.9 d mm M12 x 30 M16 x 35 M20 x 45
=/ e mm 9.5 12 15
TEIREIEE &/ &K f mm 22/415 25/72 35/68
ZS0S g mm 59 95 99
RINRK h mm 53/ 66 85/ 109 128/ 153
iT#2/FIK mm (inch) 12.7 (0.5") 24 (0.94") 25 (0.98")
EH sINV/RA bar (psi) 2/10 (29 / 145) 2/10 29/ 145) 2/10 (29 / 145)
EEER cm? 290 486 652
SHEEZ/RTITIE 6 bar L 5.5 13.5 21
B2 (FE&FMN) kg (Ibs) 53 (11915) 115 (25853) 260 (58450)

348 SMW-AUTOBLOK



CC

G

WS,/ MAB-D
LU FMES MWB-D 240 MWB-D 250 MAB-D 2505
+/K Id. No. (&) 233462 013491 081603
B 40 50 60
H 80 80 120
L 90 120 155
N 17 21 25.5
IS} 1/16" x 90° 1/16" x 90° 3/32" x 90°
a 20 62 94
b 22 28 35
kg/E 4.2 10.5 21.5
TER TEIHRAIS NST 17-4 NST 21-5 NST 21-5
G, TARIER |d. No./ {4 013864 033429 014812
‘ N 17 21 25'5
H o H 265 30 29
! h 9.5 11 11
| N// G M12 M16 M20
#24T 1S0 4762 12.9 M12 x 30 M16 x 35 M20 x 40
+MEZR

SMW-AUTOBLOK 349





